IMTR3274D PARTS LIST
N
IS

No Parts List Qty | Part No. No Hardware Pack Qty | Part No.
A | Top Panel 1 IMTR3274D-TP 1 Camlock: Nut @15x15 mm 15 IM-CN15
B | Bottom Panel 1 IMTR3274D-BP 2 | Camlock: Pin @6x11,37x28 mm | 15 IM-CP6
C | Fixed Panel 1 IMTR3274D-FP 3 | Bolt M6x25 mm 12 | IM-M6-25
D | Side Panel Left 1 IMTR3274D-SPL 4 | Screw @6x25 mm Flat 4 IM-D6-25F
E | Side Panel Right 1 IMTR3274D-SPR 5 | Screw @4x20 mm PanHead 23 | IM-D4-20P
F | Shelf 3 IMTR3274D-SH 6 | Screw @4x15 mm CSK 12 | IM-D4-15C
G | Top Rail 1 IMTR3274D-TR 7 | Shelf Support Pin: L-Shaped 12 IM-D4-SSP
H | Bottom Front Rail 1 IMTR3274D-BFR 8 | Leveler M6x20 mm 4 IM-LA
| Bottom Back Rail (inside) 1 IMTR3274D-BBR 9 | Anti-Tip Hardware 1 IM-ATH
J | Back Board 1 IMTR3274D-BB 10 | Door Stopper @6x14,08x8 2 IM-DS
K | Leveler Block (inside) 2 IMTR3274D-LB 11 | Rubber Cap 2 IM-RC
L | Door Left 1 IMTR3274D-DL 12 | Door Handle L-160 2 IMTR-DH
M | Door Right 1 IMTR3274D-DR 13 | Bolt M4x22 mm 4 IM-M4-22
Hardware Pack 1 IMTR3274D-HP 14 | Hinge (Inset) D35 4 IM-HI35
15 | Screw @5x15 mm 24 | IM-D5-15
16 | Instruction Sheet 1 IMTR3274D-Al
A
G
D
F
— E
F
| J
C
L [
— M
B
H

02-03-2024

Page 1



	图纸和视图
	模型


